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10.75 Club of 2000

✗
; ={1 if member

#i. is lucky
0 %
← =

1521=2000 !

P(✗E-1) =P (ith makes is lucky)

=II÷-=÷ -% vodka

✗= # lucky members

Y= EX i
ECY)=EE(✗ e) =EP(Xi= D= zoo . =

I-z.ES#iFaOo/wP(zi--1)=-i
E.=# people born in

2000 ←#members year i9=22 i ⑤% - 2000ELY)=EE(zit §÷g = -1 ✓ i= '
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12.35 for which graphs is
"

adjacent or equal
"

an equiv. rel

always reflexive bk "

or equal
"

symnr .

rausitive?

if G complete⇒ ✓i¥¥¥j
:

disjoint union of](graphs Sticomplete graphs way connected comp .
is a clique



12.38 path - accessibility is a eq .
rel .
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11.70 GEE
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self - aapl .☒

Clay h=°orlwod4

me 1- me -_ (1)
i. 2mg __ (1)

2 / n" i.e
.
4 / aca-1)

⑧
① 41A -←→a=0 (4)
⑦ 41A -1 ←→a=_ I (4)
③ 21h

%nm⇒→←



11.50 non - is- graphs . regular of
fame deg, sane

#vet
,
smallest
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bipartite

12.40 HE paths of bagthk in Ka
Pkfl

(1+1) -1k¥! v=kH

> have v vertices

#ways to make it a path?

-

v.G-1) -- - l _- v1

overcounted twice
1-znln-D-ln-H-stz.lk?,)kefH !



10.80 makes in aips

4. = {
1 if up # i ends up empty
0 01W

Y=E✗i # empty cups

E(✗c.) = Prfcthaep empty)=(1-
"

EG) = n . G- £ )
"

É
**

*

{marbles}
I = {cups}

f:{ marbles}→{caps}



6.1.12
bn = 21 " an = !÷

⇐ In bn ? In an

(E) .hr?-(I).k2-hla !)
-

✗n
¥

✗
n

-

n ! < an

hla !)< alien

✗n~✗n

✗ a > ✗a - 2-a >

xn-hlnn-t.es
1-¥ > 1-¥Ig

,



6. 1:15 Qd d- dim cube
h=2d

=
Given ✗ty=b > °

hno+_

hunky ) = aim { ✗ (b-× ) / K✗sb-1}

Hb -✗1>-6-1 µ→



12.18J

l÷÷E
E-(X) = 0 Y :-X

✗Y= ✗

ECXY) = ECX) =0

ECXY) -0

ECH.t-G-F.EE/)--Q-)/uncorrelated
<hot

ihdep.PL/--l)--JP(Y--o)--tzPlx--FnY=o)=--t-t
-
: ✗if not indep



10.70

E(#Aces in poker head)
let -4

✗ i={b Ace

-

Y=É Xi
i =L

g.µ, ⇒ g.yay yay ,¥
EG) =5. ÷ =F¥ wrongsample

'

space for
this argument

↳ ' I = 52.51 . 50.49.48 =(F) - 51

blowiugupsanplespacen
2-

g.
: g-⇐ { *

, .
4

, :} four suites/ Pff.-1)=¥Gindi
c. ace of suitj is in boker hand EGK-4.IT


